=
<

(0 @) (rad)

i

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

10

Ratl

10'15— TR SETTTRERITs
10‘25— ..............
10735— ............
10T — flf Lo
-4 B 1 -
095:1 T : ,
10 ! TPlpoT (PCA t%obeamliné[f)

—— DQM _CKF_TTbase
—— DQM_CKF_TT_retrainOldFiles113

—+— DQM_CKF_TT_retrainOldFiles125_v2

SICEWATL

1072

[y
TTTT] T

o
N

1

=

o p/p.)

iy
TTTT T T

o
©
a

i

[y
o
I8

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o

oo a,) (cm)

z

1072

LoR—d i A
]_:—- -an***%

0.95L ;
10 1

. 2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


